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1. 

Here, the answer is C.  

Statement C is correct here because the paragraph states that the solution of internet 
overuse in children lies with parents imposing stricter controls over their children. The 
best flaw is that we are assuming that parents can enforce stricter controls in order to 
decrease the use and thus prevent long term physical and emotional poor health. This is 
summarised in statement C. 
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2. 

Here, the answer is B.  

The paragraph assumes that parental smoking in children up to the age of 11 years old 
is the root cause for reduced growth rates. However, this is incorrect because it does 
not account for other factors that may be causing shorter heights in children up to the 
age of 11 years old. 
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3. 

Here, the answer is A. 


Statement A is correct here because the passage concludes that whole class teaching is 
superior to small group teaching. Therefore it assumes that the improvement in raised 
standards in literacy and numeracy is due to the teaching style rather than making one 
hour of literacy and numeracy work mandatory. This is summarised in statement A. 

Statements B-E are incorrect because there is no mention of this in the passage. 
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BMAT Q18 (2006) 

4. 

Here, the answer is C. 


Statement C is correct because the last statement assumes that in order for farmers to 
maximise their yield to avoid making a loss is with the use of pesticides as it 
summarises that people have to stop complaining about the use of pesticides in farms. 

Statement A is incorrect because the passage is clear with how farmers use pesticides 
in that they are primarily used to increase produce yield. 

Statement B is not a flaw of the overarching argument that the only way that yield can 
increase is through the use of pesticides. 

Statement D & E are both incorrect because there is no mention of this in the passage. 
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5. 

BMAT Q16 (2007)

Here, the answer is A. 


Statement A is correct because the passage is only looking at a select group of people 
who have studied rather than those who have not studied at all. It is also fair to say that 
it has not taken into account everybody who studied a higher education degree at 
university and then studied their longevity. Therefore, it is fair to say that the flaw in the 
argument is that it is extrapolating information based off of a group of people and 
applying it generally to all individuals. This is summarised in statement A. 

Statement B is incorrect because it is evidence to the conclusion of the passage rather 
than a flaw. It is fair to say that a healthier lifestyle goes hand in hand with longevity but 
this cannot be said for certain. 

Statement C is incorrect because this Swedish study is applying the data to those who 
have completed degrees in Sweden rather than applying the study results to other 
countries. 

Statement D is incorrect because the passage only states that people who have 
completed PhDs are more likely to live longer rather than the other way around. 
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6. 

Here, the answer is A. 


Statement A is correct here because it provides another possible reason for children to 
develop myopia. The statement suggests the potential genetic link that myopic parents 
have children that develop myopia. This challenges the link between leaving a night light 
on and the risk of developing myopia in children. It is therefore a flaw to the argument if 
presumed correct. 

Statements B-D do not directly challenge the link between leaving a night light on and 
the chance of developing myopia if they were presumed correct. 
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7. 

BMAT Q30 (2008) 

Here, the answer is E . 


P1: 6% accidents are caused by speeding 


P2: Half the deaths on the roads are caused by drivers >25.


C1: Road safety campaigners should focus on helping young people to drive safely 
rather than the current action taken.


Statement 1: This is a flaw because the argument focusses on just fixing the ‘main’ 
causes deaths. 


Statement 2: We cannot assume this and it is not written in the text. 


Statement 3: This is a flaw as there is a gap between P2 and C1. The passage assumes 
that the only way someone can be a ‘safe and responsible’ driver is by preventing 
themselves committing road deaths.
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BMAT Q28 (2009)

8. 

Here, the answer is B.  

P1: For there to be life elsewhere, planets need to be similar to Earth.


P2: Kepler telescope is sensitive to detect planets in the habitable zone.


C1: If such a planet is found, we can be sure that there is life on planets other than 
Earth. 


The main flaw here is the gap between P2 and C1 is that being in the habitable zone is 
the only requirement for life. A is not mentioned. C and D are not assumptions made in 
the passage. E is false.
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BMAT Q2 (2010)

9. 

Here, the answer is C. 


P1: Societies with a flourishing art sector are more democratic, egalitarian and 
economically robust. 


C1: To become democratic, egalitarian and economically robust we should ask the 
Government to subsidise the art sector.


The main flaw here is that the passage assumes that democracy, equality and economic 
robustness is a result of a flourishing art sector. A is irrelevant. B and D are not 
mentioned in the passage. 
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10. 

Here, the answer is E. 


P1: There will be negative stories in the press either way.


C1: We should be ignore the stories. 


A is not a flaw in the argument as the results can only be seen as good or bad. B is 
irrelevant. C is false, the passage is not making a prediction. D is irrelevant. E is 
therefore the flaw because it pinpoints the gap between P1 and C1.
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11. 

Here, the answer is C.  


The passage concludes that had Britain returned artefacts back to Iraq, they would have 
been lost along the a lot of the country’s history, when the natural history museum was 
looted. Therefore, to prevent the looting that other countries experienced, Britain should 
hold on to its historical artefacts for the whole world to enjoy. 


The conclusion is flawed as it assumes that because other countries museums were 
looted, that the same would happen to Britain. Therefore, statement C is correct. 


All other statements are not relevant to the main conclusion and do not directly flaw it. 
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12. 

Here, the answer is E.  


P1: Children used to play games with each other. 


P2: Nowadays, many children play most of their games on the computer.


P3: The children will grow up and do jobs that require interaction with co-workers. 


C1: Children are going to be less likely to be able to function socially within their 
workplace.


There is a gap between P2 and C1 as the passage doesn’t clarify if playing more video 
games has reduced time spent playing games with each other. A,B,C are irrelevant. 
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13. 

Here, the answer is C. 


Statement 1: This will allow us to evaluate the relative efficiency of the two types of 
buses.


Statement 2: As they are using the same routes, we know that the same amount of 
distance will be travelled by both. 


Statement 3: Again, this will allow us to compare relative efficiency and therefore 
whether the argument is flawed. 


Statement 4: This information will let us evaluate the efficiency of transportation the fuel.
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BMAT Q6 (2012) 

14. 

Here, the answer is E. 


C1: if parents spend time discussing these issues with their children they will help their 
children read well. 


This is a correlation not causation type flaw. The argument suggests a direct link 
between discussion and reading ability. A, B, C are irrelevant and in the case of A and C, 
the facts in the statements are not mentioned in the text. D is not a feasible flaw based 
on the argument. 
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BMAT Q6 (2014) 

15. 

Here, the answer is B.  


Structurally, this is a very straightforward argument. It only contains three claims, and 
the second one, clearly signalled with ‘So’, is evidently a conclusion. (As previously 
stated, words like ‘however,’ ‘so’, ‘therefore’, ‘hence’ or ‘consequently’ and phrases 
such as ‘as a result of this’ often indicate that a conclusion is being drawn.) 


The passage assumes that being taught music before the age of 6 is the only necessary 
factor in order to have a perfect pitch. The argument however fails to recognise the 
possibility of other factors that may be necessary for acquiring a perfect pitch. This is 
summarised in statement B, representing a suitable flaw for the above argument. 


Statement A is incorrect because the passage argues that in order to acquire a perfect 
pitch, music must be taught before the age of 6. Therefore, it does not assume adults 
could acquire a perfect pitch if they were taught music. 


Statement C is incorrect because there is no mention of the success of musicians. 


Statement D is irrelevant as there is no mention of children enjoying the music and how 
this could affect the acquisition of a perfect pitch. 
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BMAT Q17 (2014) 

16. 

Here, the answer is D. 


P1: organisations and politicians repeatedly state that we really must train more of these 
people in STEM subjects to secure our prosperity.


P2: STEM employees who do best are those most skilled in thinking and communicating


C1: we should focus on turning out agile minds, instead of engineers and scientists.


The gap between P2 and C1 is that the argument fails to recognise that STEM training is 
probably a contributor to producing an ‘agile mind.’
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17. 

Here, the answer is A.  

P1: Those competitors rated most attractive finished ahead of those rated less attractive 
in cycling. 


P2: It seems that women are sensitive to those physical traits that relate to cycling 
excellence and unwittingly factor this into how attractive they find a particular 
participant.


C1: Attractive male film stars and models are likely to make successful cyclists. 


The gap between P1 and C1 forms the basis of the flaw in the argument. The passage 
suggests that being attractive is the only variable to succeeding in a cycling race.
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18. 

Here, the answer is A. 


If a test is more sensitive, it means it will pick up cases of heart attacks that were 
previously missed. The argument suggests that the development of a new blood test will 
reduce the rate of recorded heart attacks in women. The argument is therefore flawed as 
the number of recorded heart attacks will ultimately increase. 
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BMAT Q4 (2016) 

19. 

Here, the answer is B.  

This argument makes the assumption that the brain’s ability to synchronise to the tempo 
of any speed of music is a prerequisite to becoming a good musician. It doesn’t 
consider that those who are musicians may have developed that skill as they practised 
more. In A, we cannot make this assumption, C is irrelevant. D is correct but it doesn’t 
not pin point the flaw in this argument.    
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20. 

Here, the answer is B.  

This argument also makes a direct link between two factors, claiming that reading the 
self help books will cause anxiety and depression, when actually it could be the other 
way around. Statement A is irrelevant. C and D may be correct but not the are not a flaw 
in the presented argument.
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21. 

Here, the answer is D. 


P1: Consciousness is just the result of the working of the brain


P2: Brain is just a complicated machine


C1: It’s only a matter of time before machines acquire consciousness. 


The argument has no supporting evidence which corroborates its claims. According to 
info in the passage, we don’t know if A is correct. B and C are irrelevant. 

http://www.medicmind.co.uk


Flaw Questions

BMAT Section 1: Critical Thinking 

 22© 2020

BMAT Q6 (2017)

22. 

Here, the answer is C. 


The argument gives a very narrow line of reasoning, focussing only on preventing weight 
gain. However, it doesn’t consider that the weight gain could be a result of other things 
such as genetics etc. The argument also suggests that losing weight is sufficient in the 
prevention of cancer. A and B are irrelevant. Other forms of cancer aren’t discussed 
here, so it cannot be D. 
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23. 

Here, the answer is D, 


Statement 1 does not present a flaw. Whilst it is a valid point, it is not directly linked to 
the argument made in the passage. 


Statement 2 is the same as statement 1.


A feasible flaw in the argument would be that the lives of some celebrities are being 
used to represent all young celebrities in that industry. 
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24. 

Here, the answer is E. 


P1: 200 years ago, a woman would give birth to 8.5 children on average and life 
expectancy was 55. 


P2: by 1920, birth rate was 4.2 and life expectancy is 70. 


C1:heavy biological toll of childbirth on women means that the more times they give 
birth, the faster they age and the more likely they are to die early


This passage suggests a causation link between birth rate and life expectancy which 
makes the argument flawed.
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25. 

Here, the answer is C. 


The points in the passage show that there is a correlation between brain connectivity 
and positive/negative lifestyle attributes. However, the conclusion, (‘if brain connectivity 
was improved, people could benefit from more ‘positive’ lifestyle attributes’) portrays 
this link as causation - suggesting that strong brain connectivity will always lead to 
positive attributes. This is the flaw in the argument. A, B and C are irrelevant to this 
argument. 
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26. 

Here, the answer is C.  


The passage doesn’t provide sufficient evidence for changing current government plans 
- only one experience is spoken about. A is wrong. B suggests that there is bias against 
the government which is not implied in the paragraph. D is irrelevant. Cutting funding 
will eventually result in closure of some nurseries, so this is not necessarily an 
assumption. 
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27. 

Here, the answer is A. 


The argument says that if the Prince’s whereabouts had been secret, the level of risk 
could have been managed. The flaw here is that the argument assumes that just 
because this is true, the inverse is false. The only option in the answers that follows the 
same flaw as the argument is A. 
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28. 

Here, the answer is C,  


P1: Cats living on the outskirts of urban areas and those living in rural areas bring home 
more prey, and a greater variety of prey, than cats living in more urbanised 
environments. 


P2: In Canberra domestic cats caught and killed so-called ‘invasive’ species of rodents 
and birds


C1: Keeping domestic cats should be encouraged as it has a positive effect on native 
wildlife


The main gap between P2 and C1 is that P2 is specific to Canberra and C1 is a general 
statement about all domestic cats and the environment. This is a flaw because the 
passage assumes that what happens in Canberra will happen elsewhere. 
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29. 

Here, the answer is B. 


The conclusion of the paragraph states that it is overall a bad idea if the government 
imposes a tax on goods bought on the internet, as this will have a net overall negative 
impact on the economy, the government and services like education and healthcare. It 
does not take into account the possibility that people who previously were online 
shopping could instead start shopping in physical stores. This means that they would 
encounter a similar tax in physical stores. Thus, this statement B flaws the argument as 
it is likely that the economy and the government will not be affected to the extent that 
the author has described, since consumers will be either purchasing goods and services 
from online stores or physical stores, both of which will have similar taxes. 
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30. 

Here, the answer is B. 


The passage concludes that drugs should not be legalised given the negative aspects 
that illicit drugs bring about. This is supported with the example of increased rates of 
murder and violent crimes overall in Colorado (following the legalisation of marijuana). 

Statement 1 flaws the argument because the conclusion assumes that the rates in 
crime in Colorado increased after marijuana was legalised and that this specific rise was 
caused by a change in the law. 

Statement 3 also flaws the argument because the passage only discusses one example 
which has had negative effects. However, it might not be correct to assume that 
because it occurred in one place, that it will certainly occur elsewhere if illicit drugs were 
legalised. 

Statement 2 is incorrect because there is no mention of the relationship between 
legalised and socially accepted drugs. 
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